
MW1050(PV)MW1050(PV)MW1050(PV)MW1050(PV)

000001000001000001000001

参照先 参照先 参照先 参照先 |000000|000000|000000|000000 ﾍﾟｰｼﾞ ﾍﾟｰｼﾞ ﾍﾟｰｼﾞ ﾍﾟｰｼﾞ 

10

65

56

57

55

54

53

50

49

52

51

45

46

46

47

43

42

44

41

51

48

6

59

58

9

8

7

11

5

12

14

15

18

19

16

62

64

61

63

17

28

23

61

24

27

22

25

9

8

7

4

26

10

6

59

58

2

313

40

67

66

66

69

68

37

31

29

39

21

20

38

36

30

34

35

33

32

52

49

50

53

54

55

57

56



MW1050(PV)MW1050(PV)MW1050(PV)MW1050(PV)

MW1050(PV)MW1050(PV)MW1050(PV)MW1050(PV)

参照先 参照先 参照先 参照先 |000000|000000|000000|000000 ﾍﾟｰｼﾞ ﾍﾟｰｼﾞ ﾍﾟｰｼﾞ ﾍﾟｰｼﾞ 

記号

見出

番号

部品

番号

代替

コード

部品名称 個数 規格 備考

積算価格

(税抜き)

ﾒｰｶｰｺｰﾄﾞ

1 304921 1  0

 2 045036 ｸﾗﾝｸｹｰｽﾏﾄﾒ 1 WP1050-00 3､4ﾌｸﾑ 37600  

 3 014050 126545 ｳｴｺﾐﾎﾞﾙﾄ 4 M10X25X20X20 M10×25×20×20 370  

 4 027488 ｽﾌﾟﾘﾝｸﾞﾋﾟﾝ 5AW-12 2 5X12 AW φ5×12LAW 125  

 5 043494 ｸﾗﾝｸｼﾞｸ 1 ｿｻﾞｲ105256  64800  

 6 043496 ﾍﾞｱﾘﾝｸﾞｹｰｽ 2 P/N104885  5250  

 7 039060 ﾍﾞｱﾘﾝｸﾞ 30207 2 30207 #30 20 7 3950  

 8 043495 ｵｲﾙｼｰﾙ 2 D35508 D35 50 8 970  

 9 011340 Oﾘﾝｸﾞ G85 2 G85 1ｼﾕA G85 820  

 10 092519 125824 6ｶｸﾎﾞﾙﾄ(+)WSW 8 M6X16(SMK) M6×16 60  

 11 048600 ｺﾝﾛﾂﾄﾞｸﾐﾀﾃ 3   5750  

 12 043501 ﾌﾟﾗﾝｼﾞﾔｰﾏﾄﾒ 3   10000  

 13 043507 ﾋﾟｽﾄﾝﾋﾟﾝ 3 16X37 φ16×37L 1940  

 14 043504 126592 ﾋﾗｻﾞｶﾞﾈ 3 30X40XT1.2 φ30×φ40×t1.2 80  

 15 043500 ｵｲﾙｼｰﾙ 3 S20407 S20 40 7 740  

 16 054365 ﾊﾘﾏｰｸ 1 ﾔｼﾞﾙｼ ﾔｼﾞﾙｼ 25  

 17 103689 ﾈｰﾑﾌﾟﾚｰﾄ(MW1050) 1 MW1050 MW1050 60  

 18 043211 ﾁﾕｳﾕｺｳﾌﾀﾏﾄﾒ 1 ｱｶ  1080  

 19 014177 Oﾘﾝｸﾞ P35 1 P35 1ｼﾕA P35 135  

 20 081048 126522 6ｶｸﾅﾂﾄ 4 M10 1ｼﾕ M10 70  

 21 012503 126231 ﾊﾞﾈｻﾞｶﾞﾈ 4 M10 2ｺﾞｳ M10 70  

 22 103690 ｸﾗﾝｸｹｰｽﾌﾀ 1 P/N120900  7650  

 23 092241 ｵｲﾙｹﾞｰｼﾞﾏﾄﾒ 1  24ﾌｸﾑ 520  

 24 044428 ｺﾞﾑﾏﾙﾊﾟﾂｷﾝ 25X34X2 1 25X34XT2 φ25×φ34×t2 70  

 25 044834 Oﾘﾝｸﾞ 1 148X126X2.4 φ148×φ126×t2.4 430  

 26 025625 ﾌﾟﾗｸﾞ PF1/4 1 G1/4 PF1/4 540  

 27 023170 Oﾘﾝｸﾞ P12.5 1 P12.5 P12.5 150  

 28 092520 126541 6ｶｸﾎﾞﾙﾄ(+)WSW 4 M6X20(SMK) M6×20 45  

 29 045675 ﾜﾂｼﾔ 3 12X24XT0.4 φ12×φ24×t0.4 105  

 30 043552 ｽﾘｰﾌﾞ 3 24X77 φ24×77L 10650  

 31 043506 ｶﾂﾌﾟｻﾞｶﾞﾈ 3 12X30X2.5  240  

 32 104360 ﾌﾟﾗｸﾞ 3   1420  

 33 045891 ｶﾞｽｹﾂﾄ9X12.5X0.5 3 9X12.5XT0.5 φ9×φ12.5×t0.5 25  

 34 043235 ﾊﾞﾂｸｱﾂﾌﾟﾘﾝｸﾞ6X9X0.8 3 6X9X0.8ﾊﾞｲｱｽｶﾂﾄ φ6×φ9×t0.8ﾊﾞｲｱｽｶｯﾄ 105  

 35 017399 Oﾘﾝｸﾞ P6 3 P6 P6 80  

 36 043553 ｶﾗｰ 12X24X15 3 12X24X15 φ12×φ24×15L 800  

 37 125649 ｼｰﾙﾊﾟﾂｷﾝｵｻｴ 3 ｸﾛ  630  

 38 125650 ｱﾀﾞﾌﾟﾀ 3 ｸﾛ  480  

 39 043554 ﾌｴﾙﾄﾊﾟﾂｷﾝ 3 23.5X36.5XT5  630  

 40 044664 ｵｲﾙﾊﾟﾝ 1   1170  

 41 046704 ﾏﾆﾎﾙﾄﾞ 1   78000  

 42 049290 ｼｰﾙｹｰｽ 3   3100  

 43 014762 Oﾘﾝｸﾞ P31 3 P31 P31 215  

 44 043556 UﾊﾟﾂｷﾝB(ｸﾞﾘｽﾂｷ) 3 24  4400  

 45 043560 ｵｽｱﾀﾞﾌﾟﾀ 3   650  

 46 043559 Vﾊﾟﾂｷﾝ 6 23.8X35X4.6  1600  

 47 043558 ﾒｽｱﾀﾞﾌﾟﾀ 3   760  

 48 020326 ﾌﾟﾗｸﾞ 1 3/4-14NPT 3/4-14NPT 1510  

 49 045811 ﾍﾞﾝｸﾐﾀﾃ 6 MDL1050 50～55ﾌｸﾑ 2550  

 50 044718 ﾍﾞﾝｻﾞ 6   1400  

 51 043248 ﾊﾞﾂｸｱﾂﾌﾟﾘﾝｸﾞ 6 15.5X18X1ﾊﾞｲｱｽ φ15.5×φ18×t1ﾊﾞｲｱｽｶｯﾄ 260  

 52 043249 Oﾘﾝｸﾞ 6 15.3X1.6 φ15.3×φ1.6 70  

 53 043721 ﾍﾞﾝ 6 19X2.0 φ19×t2 480  

 54 043751 ｱﾂｼﾕｸｺｲﾙﾊﾞﾈ 6 0.8-17L  105  

 55 044564 ﾍﾞﾝｻﾂｸ 6 MODEL530ﾖｳ  430  

 56 043851 ﾌﾟﾗｸﾞ 6 PF3/4 PF3/4 1020  

 57 017617 Oﾘﾝｸﾞ 6 P22A 1ｼﾕB(HS90) P22A 170  

 58 043520 ﾊﾟﾂｷﾝ 6 ﾁﾖｳｾｲﾖｳ ﾁｮｳｾｲﾖｳ 125  

 59 045387 ﾊﾟﾂｷﾝ 4 ﾁﾖｳｾｲﾖｳ ﾁｮｳｾｲﾖｳ 280  

 60 117783 ﾄﾘｱﾂｶｲｾﾂﾒｲｼﾖMWﾌﾟﾗﾝｼﾞﾔ 1 MW230  560  

 61 117781 ﾊﾘﾏｰｸ 1 ｾﾂﾄﾁﾕｳｲ ｾｯﾄﾁｭｳｲ 45  

 62 101388 ﾁﾕｳｲﾏｰｸ 1   35  

 63 117812 ﾊﾘﾏｰｸ(ｾｲｿﾞｳﾓﾄ ｴｸｾﾙ) 1 ｾｲｿﾞｳﾓﾄ(ｴｸｾﾙ) ｾｲｿﾞｳﾓﾄ(ｴｸｾﾙ) 25  

 64 102182 ﾁﾕｳﾕﾏｰｸ 1   60  

 65 043729 ﾌﾟﾛﾃｸﾀｰ 1 ﾉｳｼﾖｸﾌﾞﾙｰ  1570  

 66 028498 126602 ﾚｰﾙ 2   4900  

 67 089455 6ｶｸﾎﾞﾙﾄ M10X125X20 2 M10X125X30 M10×125×30 220  

 68 012503 126231 ﾊﾞﾈｻﾞｶﾞﾈ 2 M10 2ｺﾞｳ M10 70  

 69 081048 126522 6ｶｸﾅﾂﾄ 2 M10 1ｼﾕ M10 70  


